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	Qu.
	Quiz 2 Answers
	Notes

	1
	[bookmark: _Hlk492026026]He wore his coat because it was raining.

Tom and Amy walked to the shops.

She was allowed a scooter or roller skates.
	Answers must not include capital letters.

	2
	Yesterday, he went to see the new film. (Option 4)
	

	3
	she
	

	4
	doesn’t
	Answers must be spelt correctly. Apostrophes must be curved to the left.

	5
	enormous, gloomy, tall
	Also accept answers that have been underlined.

	6
	I need to book my train ticket. (Option 3)
	

	7
	
M r   G r e e n’ s   n e w   c l a s s   a l l   w o r e   f u n n y  
r e d   h a t s.

	Apostrophes must be curved to the left.

	8
		Singular
	Plural

	teacher
	teachers

	school
	schools

	table
	tables

	class
	classes

	child
	children



	Do not accept answers with apostrophes. Answers must be spelt correctly.
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